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QUESTION 1

You are asked to deploy data classification measures in your network. You are analyzing an e-mail and notice several
employees in the cc list but the e-mail does not appear to contain any sensitive data, such as security logs or financial
reports.

In this scenario, how should this data be classified?

A. public

B. encrypted

C. restricted

D. private

Correct Answer: D

QUESTION 2

When considering environmental conditions in a data center, which two statements are correct? (Choose two.)
A. The device air intake should face the cold aisle.

B. Relative humidity that is too low can cause water condensation.

C. Device exhaust fans should face the cold aisle.

D. The temperature should be measured at multiple heights.

Correct Answer: AD

QUESTION 3

Two data centers must be able to operate with a stretched Layer 2 network. You are concerned about unnecessary
traffic on the Data Center Interconnect (DCI). You do not want packets to trombone over the DCI, have excessive
unknown unicast packet flooding over the DCI, or have excessive ARP flooding over the DCI.

Which technology satisfies the requirements in this scenario?

A. EVPN

B. IPsec

C. VPLS

D. GRE over IP

Correct Answer: A
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QUESTION 4

Within a customer\\'s data center, one departmental server is transmitting all of its network traffic marked with an IP
precedence value of 6. The ingress switch must change this precedence before forwarding it to the rest of the network.

Which CoS feature would be used to accomplish this task?
A. multifield classification

B. rewrite rules

C. class-based forwarding

D. behavior aggregate classification

Correct Answer: B

QUESTION 5

You have a heavily virtualized environment in which all of your virtual machines are hosted on a few large, shared
servers. For security reasons, you must restrict inter-VM traffic and only allow traffic that complies with your security
policies.

Which two technologies would you use to restrict inter-VM traffic? (Choose two.)

A. URL filtering

B. security intelligence

C. VSRX

D. VLAN

Correct Answer: CD

QUESTION 6

Which data center architecture is open, flexible, and uses Layer 3 only?
A. STP

B. IP fabric

C. virtual chassis

D. MC-LAG

Correct Answer: B

QUESTION 7
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What are two types of data center network overlays supported by Juniper Networks? (Choose two.)
A. Generic Network Virtualization Encapsulation

B. centrally-routed bridging

C. edge-routed bridging

D. Stateless Transport Tunneling

Correct Answer: BC

QUESTION 8

You are asked to design an IP fabric that uses the same routing protocol in both the underlay and overlay networks.
Which routing protocol will satisfy this requirement?

A. MPLS

B. BGP

C.IS-IS

D. OSPF

Correct Answer: B

QUESTION 9

Your company is deploying a private cloud based on OpenStack and has selected Contrail Networking as their SDN
controller. The data center supporting this private cloud will use an IP fabric architecture consisting of QFX Series
switches and MX Series routers.

Which two statements are true in this scenario? (Choose two.)

A. All vRouters maintain identical forwarding tables for all virtual networks.

B. SDN Gateway devices may contain per-tenant MAC and IP addresses.

C. Each vRouter maintains separate forwarding tables for various virtual networks.

D. Spine and leaf devices may contain per-tenant MAC and IP addresses.

Correct Answer: BC

QUESTION 10

You are designing an IP fabric underlay using IBGP with the spines serving as route reflectors. In this scenario, which
BGP capability must be supported on the spines?
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A. add-path

B. route-monitoring

C. rib-sharding

D. route-refresh-priority

Correct Answer: A

QUESTION 11

You are designing an IP fabric ASN scheme using EBGP.

What are two acceptable ranges in this scenario? (Choose two.)
A.0-512

B. 100001 — 199999

C. 64512 — 65535

D. 4200000000 — 4294967294

Correct Answer: CD

QUESTION 12

Which two characteristics describe a one-arm firewall deployment? (Choose two.)

A. The number of interfaces required for the infrastructure increases.

B. The flexibility of selective services on the firewall is reduced.

C. All traffic passes through the firewall before passing through the core and aggregation tiers.
D. Select traffic is directed to or bypasses the firewall.

Correct Answer: BD

QUESTION 13

Your corporate network consists of four data centers. Your data centers are already running EVPN-VXLAN over an IP
fabric. You are asked to design a strategy for Layer 3 data center interconnectivity.

Which two methods would satisfy this requirement? (Choose two.)
A. EVPN Type-6 routes

B. L2VPN
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C. L3VPN
D. EVPN Type-5 routes

Correct Answer: CD

QUESTION 14

What are two considerations when designing an IP fabric? (Choose two.)
A. Every leaf node should have an uplink to every spine node.

B. Leaf nodes and spine nodes should be the same type of device.

C. Uplinks from servers to the leaf nodes should be 40GbE links.

D. All spine nodes should be the same type of device.

Correct Answer: AC

QUESTION 15

Which two Layer 2 Data Center Interconnect redundancy options support active/active forwarding? (Choose two.)
A. VPLS LAG

B. point-to-point LAG

C. EVPN multihoming

D. VPLS multihoming

Correct Answer: CD
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